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Exercice 1

Compléter sans calculatrice :

I1. 1 000 × 2,21 = . . . . . . . . . . . . . . . . . . . . .
I2. 0,000 1 × . . . . . . . . . . . . . . = 0,000 421

I3. . . . . . . . . . . . . . . . . ÷ 1 000 = 0,000 949

I4. 0,1 × 0,661 = . . . . . . . . . . . . . . . . . . . . . .
I5. . . . . . . . . . . . . . . . . . . . . ÷ 100 = 0,011 1

I6. 10 000 × 0,511 = . . . . . . . . . . . . . . . . . . .

I7. 0,01 × 0,287 = . . . . . . . . . . . . . . . . . . . . .
I8. 10 × 26,5 = . . . . . . . . . . . . . . . . . . . . . . .
I9. 0,127 ÷ 10 = . . . . . . . . . . . . . . . . . . . . . .

I10. . . . . . . . . . . . . . . . ÷ 10 000 = 0,000 619

I11. . . . . . . . . . . . . . . . . . . × 7,56 = 0,007 56

I12. 100 × 0,935 = . . . . . . . . . . . . . . . . . . . . .

Exercice 2

Compléter sans calculatrice :

I1. 0,000 1 × 20,4 = . . . . . . . . . . . . . . . . . . .
I2. 43,2 ÷ 10 = . . . . . . . . . . . . . . . . . . . . . . .
I3. . . . . . . . . . . . . . . . . . . . . . . . × 5,58 = 558

I4. 10 000 × 9,05 = . . . . . . . . . . . . . . . . . . . .
I5. 0,374 ÷ 10 000 = . . . . . . . . . . . . . . . . . . .
I6. 0,1 × 7,13 = . . . . . . . . . . . . . . . . . . . . . . .

I7. 7,35 ÷ . . . . . . . . . . . . . . . . . . . = 0,073 5

I8. . . . . . . . . . . . . . . . . . . . ÷ 1 000 = 0,095 8

I9. . . . . . . . . . . . . . . . . . . × 7,36 = 0,007 36

I10. 10 × 4,72 = . . . . . . . . . . . . . . . . . . . . . . .
I11. 0,01 × 12,6 = . . . . . . . . . . . . . . . . . . . . . .
I12. 1 000 × 5,42 = . . . . . . . . . . . . . . . . . . . . .

Exercice 3

Compléter sans calculatrice :

I1. 100 × 0,548 = . . . . . . . . . . . . . . . . . . . . .
I2. 0,93 ÷ 1 000 = . . . . . . . . . . . . . . . . . . . . .
I3. 1 000 × . . . . . . . . . . . . . . . . . . . . . . = 382

I4. 0,1 × 0,578 = . . . . . . . . . . . . . . . . . . . . . .
I5. 0,001 × 0,668 = . . . . . . . . . . . . . . . . . . .
I6. 98,9 ÷ . . . . . . . . . . . . . . . . . . . . . = 0,989

I7. . . . . . . . . . . . . . . . . . . . . . . . ÷ 10 = 0,897

I8. 0,000 1 × 0,522 = . . . . . . . . . . . . . . . . . .
I9. 10 000 × 30,4 = . . . . . . . . . . . . . . . . . . . .

I10. . . . . . . . . . . . . . . . . . × 0,822 = 0,008 22

I11. 24,4 ÷ 10 000 = . . . . . . . . . . . . . . . . . . . .
I12. 10 × 0,573 = . . . . . . . . . . . . . . . . . . . . . .

Exercice 4

Compléter sans calculatrice :

I1. 0,1 × 99,8 = . . . . . . . . . . . . . . . . . . . . . . .
I2. . . . . . . . . . . . . . . . ÷ 10 000 = 0,000 136

I3. . . . . . . . . . . . . . . . . . . . . . . . × 3,97 = 397

I4. . . . . . . . . . . . . . . . . . × 1,51 = 0,000 151

I5. 0,145 ÷ 10 = . . . . . . . . . . . . . . . . . . . . . .
I6. 3,85 ÷ 1 000 = . . . . . . . . . . . . . . . . . . . . .

I7. 34,4 ÷ . . . . . . . . . . . . . . . . . . . . . = 0,344

I8. 0,01 × 5,38 = . . . . . . . . . . . . . . . . . . . . . .
I9. 10 000 × . . . . . . . . . . . . . . . . . = 977 000

I10. . . . . . . . . . . . . . . . . × 0,145 = 0,000 145

I11. 1 000 × . . . . . . . . . . . . . . . . . . . = 12 700

I12. 10 × . . . . . . . . . . . . . . . . . . . . . . . . = 1,26
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